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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(it)
(iit)

(iv)

(v)

(vi)

.59/4/3

This question paper contains 13 questions. All questions are compulsory.
This question paper consists of three Sections — Section A, B, and C.

Section A has 8 questions (Questions no. 1 to 8) of 2 marks each. Answers to
these questions should be completed within 50 words each.

Section B has 3 questions (Questions no. 9 to 11) of 4 marks each. Answers to
these questions should be completed within 100 words each. Answers of MAP
question should be attempted accordingly.

Section C has 2 questions (Questions no. 12 and 13) of 6 marks each. Answers
to these questions should be completed within 170 words each.

There is no overall choice in the question paper. However, an internal choice
has been provided in some questions. Only one of the choices in such questions
have to be attempted.

SECTION A

Mention any two recommendations of the Mandal Commission. 2x1=2

Analyse any two reasons for the dominance of the Congress Party in the

first three general elections. 2x1=2
(a)  “Cultures are not static things.” Justify. 2
OR
(b)  “States have become more powerful as a result of globalisation.”
Support the statement. 2
Explain any two political consequences of globalisation. 2x1=2
Describe any two flows related to globalisation. 2x1=2

Why is National Democratic Alliance (NDA) III called a ‘Surplus Majority
Coalition’ ? Explain. 2

3 P.T.O.
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7. ARl & hIg & THN[cHD THH IATR VT | 2x1=2
8. YA 37N UIfh&d™ o s <hl fehrgl < THEATST hl GUM hHIFIT | 2x1=2
Qis @

9. “fUsd $© W i Mo Hi TSHITG H, TSHITGD el 1 TEa-g fTamam
T TG 81 & |7 3eT8tun |fegd oA hl <I=Ed 38sy | 4
10. FUTA H AThd=ohTul shl UshaT shl SATEAT shIfVT | 4
11. 9RA & g MU TSHifos @r-AaEte (58 5 W), § 9] T3 o @), @), ©
qam (D) o g Afehd fopam T 8 | 9 € T8 ISR & SMYR W 3 USAT i
UgAH HIT 3R v IW-gfeaert T 39 W&l A, AN i g SRR
HU-TEA qAT gHT | foar mn gefaq R, i & w8 arfaet & w9 4
%ﬁ'\@Q :
TN hl TS FTHERR | AHERET |
& HH-TE gt wew | o oA
i)
(11)
(iii)
(iv)
() I8 Uy fSueh! faum gur # gaifes e 8 |
(i) o8 USF {999 9 & Y99 A T SR (1948 — 1950) 1 TFeey
g1 |
(i) 98 TST & 1967 % faam qu1 IAmEl § iU Ul il sgAd Ted T8
B3 T, Wrg I8 3 Gl h! HETAAT § HEHR o1 ot off |
(iv) o8 Ye31 S Idq™ H oheg SITTYd &5 2 | 4x1=4
59/4/3 4
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WRA T FGT-AES (T iTaeR)
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10.

11.

.59/4/3

Highlight any two negative effects of globalisation. 2x1=2

Describe any two problems between India and Pakistan. 2x1=2

SECTION B

“In the recent coalition politics, the alliance of political parties is not

based on ideology.” Justify the statement with examples. 4

Explain the process of democratisation in Nepal. 4

In the given political outline map of India (on page 7), four States have
been marked as A), B), (© and (D). Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :
Serial number of the | Concerned alphabet | Name of the
information used in the map State

(1)
(ii)
(ii1)
(iv)

(1) The State with the largest number of seats in its Legislative

Assembly.

(11) The State to which the first Indian Governor General
(1948 — 1950) belonged.

(iii)) The State where the Congress Party did not get majority in 1967
Assembly polls, but formed a government with the help of others.

(iv)  The region which is a Union Territory now. 4x1=4

6
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For question no. 11

Outline Map of India (Political)

.59/4/3 7 P.T.O.
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12.

.59/4/3

el 597 #acl giRariea gienmfedal & g yv7 &y 11 & €7 T

(11.1) YA % Y8l &I A6 ARYH 1 94 foAfgu |

(11.2) 38 TSI &1 99 faRaw @i 1967 & fagm aar gt § Hid 9l o6l

IEHA T A1 g3 AT, Wrg 38 3 GAl hl FERAAT § LRI 41 Al
off |

(11.3) 38 US¥ & 49 fafer o8 9yrd & 999 9Rd™ TR SRd

(1948 — 1950) b1 GF-Y T |

(11.4) 38 TsF &1 4 fafgu Seeht faum g § gaifoss € 2 4x1=4

Qs 1

(%) = g AU AdIETen I GURH ©q 38T MU fohgl fF hadi i

3SR <hIfSTY | 3x2=6

HAYAT

(@) Ifth % Th g o &9 § JUUT ¥ HT fohgl T REA Pl AR
T | 3x2=6

8
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Note :

12.

.59/4/3

The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 11 :

(11.1)

(11.2)

(11.3)

(11.4)

(a)

(b)

Name the first Chief Election Commissioner of India.

Name the State where Congress Party did not get majority in
1967 Assembly polls, but formed a government with the help of

others.

Name the State to which the first Indian Governor General

(1948 — 1950) belonged.

Name the State with the largest number of seats in its Legislative

Assembly. 4x1=4

SECTION C

Highlight any three steps taken by China to improve its

economy. 3x2=6

OR

Highlight any three strengths of the European Union as a centre of

power. 3Ix2=6

9 P.T.O.
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13. (%) 1977 ® foueft <ot gro Wy et San urdl sAW & foheal A o

! IR hIfoT | 3x2=6

AYAT

(@) @I 1975 | ITUTAehTAA Shl SIYUT AT TGRS o7 ? 37U 3T o 9T §

~

hIg I IUYH deh TRET | 3x2=6

.59/4/3 10
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13. (a) Highlight any three reasons for the opposition parties to come

together to form Janata Party in 1977. 3x2=6

OR

(b)  Was the declaration of emergency in 1975 necessary ? Support

your answer with any three suitable arguments. 3x2=6

.59/4/3 11
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